05908 RIERH H LR BB EEE R PRE Al AR ZH

7= miiEA

ME
Mo
RERIEF,
TPEMSIZ 2,

I
AL MBEELAE,

B
BmRRETEH, TAXARIERE -, "EURIENEFE
BN THREREN., BNEARFELLBH.

R4

05280 IR 18

05880 Z#&EX R

05899 A FHRIERZH & e
07110 RiwIKFE ZiRie
07117 WARXRZFH

07120 % FF3E L1242 DIN 6332
07121 T ERK TRATIE L 1848
07140 EMI DIN 6311

07142 ER

BERER :
1) BRAIEH (I IE 1
2) BRIVESIIE 2

© norelem www.norelem.com



05908 RIERH H LR BB EEE R PRE Al AR ZH

3 ® ®
D
FH =)
ST
0 S
A2y | il
[t =
M $ i kf:? ig g:cgj
i A3 A3
| a_| |, A2
o A A
c}) I ' m
'@ ~B1 ®
<L At 0.
| f{B
& 8] Ao == 8 @
i I CAR
w~f 42
A

ER%A | BFRA | BFRA BFHA
FTRRAER  FRAL 1 FRfz2  ERfzEF

05908-006102 56° 83° 152° 46° 56° 83° 160 1350 1650 920 1050
05908-008102 13° 93° 158° 26° 61° 86° 190 2000 2800 940 1350
05908-010102 6° 97° 176° 19° 59° 91° 250 2500 4500 1500 | 2800
05908-012102 11° 88° 164° 24° 60° 91° 280 3000 5500 1400 | 2800

B2 B3 B4|B5 REXRITHRS

05908-006102 M6x35 |14|29

3 7 |12|27|38|175|125| - |25|534|249|55 163 | 865 53 05880-02
05908-008102 3 M8x45 |21(39| 9 |19(32/45/20,6 |156| - |2,5]51,1|32,7 /6,8 1914 | 107 62 05880-04

4 8

5

M10x55 |32|50 27145/64|255|18,5|38|3,5|56,5|38,7| 9 230,5| 153 95 05880-06
M12x70 |32|/53|10,5| - |45/63| 28 | 21 | - |3,5|56,5|46,7 |88 249,1 | 1735 | 113,56 05880-06

05908-010102
05908-012102

© norelem www.norelem.com



